Power (m°/Hz)

109

10— 1%

10— 19
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10— <1

data; seg= 8192 tot= 360600 overlap=
nseg= 69 kek030417:GEOO9

0.75

window= 1

GL-UD:030417; 1-69

amp= 168E 07 > 1Hz |
amp=3.20E—-07 f>0.1Hz

101 100 1ol 107
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Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek030417:GEO09 window= 1

I I T |||| I I T |||| I I T |||| I I [ |||:

- GL—NS:030417; 1-69 —
2 ] amp=1.13E—-07 f> 10Hz1
| ) amp=1.80E-07 f> 1Hz |
N | amp=8.60E-07 £>0.1Hz =

| | L1 1 III| | | L1 1 III| | | L1 1 III| | | L1 1 II_
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Power (m°/Hz)
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10— 1%

10— 19
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10— <1

data; seg= 8192 tot= 360600 overlap=

nseg= 69 kek030417:GEOO9

0.75

GL-EW:030417; 1-69

amp=1.41E-07 f> 10Hz1
amp=1.78E-07 >
amp=6.23E—-07 f>0.1Hz

1Hz |

101

100 10!

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

Frequency (Hz)

nseg= 69 kek030417:GEO09 window= 1
I I T 1T II| I I T 1T II| I I T 1T II| I I T T II:
UG—-UD:030417; 1-69 —
amp=2.52E—-09 f> 10Hz1

| amp=3.33E-08 f> 1Hz |
amp=1.88E-07 £>0.1Hz -

| | IIIIII| | | IIIIII| | | IIIIII| | ]\\‘III_
101 100 10l 107

Integrated Amplitude (m)



Power (m°/Hz)
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10— 19
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10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek030417:GEO09 window= 1

I I T III| I I T III| I I T III| I I [ III:

- UG—NS:030417; 1-69 —
2 amp=3.08E—-09 f> 10Hz"
| amp=1.94E-08 f> 1Hz |
--------- amp=6.04E—-07 >0.1Hz -

| | L1 1 III| | | L1 1 III| | | L1 1 III| III_
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)



Power (m?°/Hz)
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10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek030417:GEO09 window= 1

I I T III| I I T III| I I T III| I I [ III:
UG—-EW:030417; 1-69 —
amp=4.41E—-09 f> 10Hz"

- amp=1.83E-08 f> 1Hz |
__________ amp=4.45E—-07 £>0.1Hz -

| | L1 1 III| | | L1 1 III| | | L1 1 III| III_
101 100 10l 107
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1.0

0.8

0.6

0.4

0.2

0.0

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
UD :kek030417:GEOO9

[

101 100 10! 10%

Frequency (Hz)



GEO009.002
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Coherence

1.0
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data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
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GE009.006

Coherence

1.0

0.8

0.6

0.4

0.2
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data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
EW kek030417:GEOO9

101 100 10! 10%

Frequency (Hz)



GEOOQOOI data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
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1.0

—
o
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—-1.0

O
-
|||||||||||||||||||||||
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GE009002 data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
GE009.005 NS :kek030417:GE0OO9
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data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
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100 10!

Frequency (Hz)
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data; seg= 8192 tot= 360600 overlap= 0.75

04 nseg= 69
E I I ||||||| I I ||||||| I I ||||||| I g
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Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 UD :kek030417:GEOQO9

GE009.001 ; 1— 0

amp=9.05E—08 f> 10Hz 1
< amp=1.68E—-07 >
amp=3.20E—-07 f>0.1Hz

S

. rgain= 1.
Noise Int.Amp.

- amp=8.01E-08 > 10Hz
 amp=1.49E-07 > 1Hz
amp=2.16E-07 f>0.1Hz

1Hz |

101 100 10!

Frequency (Hz)

10°

10— 10

10— 11

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 UD :kek030417:GE0O0O9
I I [ IIII| I I [ IIII| I I [ IIII| I T IIII:
- GE009.004 , 1— 0 —
R amp=2.52E—-09 f> 10Hz"
- amp=3.33E-08 f> 1Hz |
S amp=1.88E—-07 £>0.1Hz -
. rgain= 1. §
Noise Int.Amp. : .
"~ amp=R.25E-09 f> 10Hz AE
 amp=2.38E—-08 > 1Hz N .
amp=9.05E-08 f>0.1Hz | ]\1 i
10-1 109 101 107

Frequency (Hz)

Integrated Amplitude (m)
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100

data; seg= 8192 tot= 360600 overlap= 0.75
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Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 NS :kek030417:GEOO9

I I T |||| I I T |||| I I T |||| I I T |||:

- GE009.002 ; 1— O —
SN | amp=1.13E-07 f> 10Hz]
HERE NN amp=1.80E—-07 f> 1Hz |
R amp=8.60E-07 {>0.1Hz -

i AT E
- ‘ww ~ \ :
. rgain= 1. \\::; %
Noise Int.Amp. B

- amp=1.06E-07 > 10Hz E
amp=1.59E-07 f> 1Hz .
amp=2.68E-07 f>0.1Hz | -
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Power (m°/Hz)
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10— 1%

10— 19
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10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 NS :kek030417:GEOO9

I I [ IIII| I I [ IIII| I I [ IIII| I I [ IIII:

- GE009.000 ; 1— 0 —
: amp=3.08E—-09 f> 10Hz"
. amp=1.94E-08 f> 1Hz |
S NN amp=6.04E—-07 >0.1Hz -

. rgain= 1. %
Noise Int.Amp. .

- amp=2<2.84E-09 f> 10Hz BE
 amp=1.50E-08 > 1Hz ]
amp=1.34E-07 £>0.1Hz | oo
101 109 10! 107

Frequency (Hz)

Integrated Amplitude (m)
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10<

101

100

data; seg= 8192 tot= 360600 overlap= 0.75
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Power (m°/Hz)

109

10— 1%

10— 19
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data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 EW :kek030417:GEOO9
I I T |||| I I T |||| I I T |||| I I [ |||:
- GE0O09.003 ; 1— 0O —
A . amp=1.41E-07 f> 10Hz-
| N amp=1.78E—-07 f> 1Hz |
NN amp=6.23E—-07 {>0.1Hz 3
— A /‘,H"’M \ LM \\ §
. rgain= 1. \\:: %
Noise Int.Amp. |
" amp=1.33E-07 f> 10Hz IE
amp=1.62E-07 f> 1Hz -
amp=3.79E-07 £>0.1Hz | -
10~ 1 109 101 107

Frequency (Hz)

Integrated Amplitude (m)



Power (m?®/Hz)
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10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 EW :kek030417:GE0OQO9

GE009.006 ; 1— 0

amp=4.41E—09 f> 10Hz1
amp=1.83E-08 >
amp=4.405E—-07 f>0.1Hz

. rgain= 1.
Noise Int.Amp.

- amp=3.72E—-09 > 10Hz
 amp=1.48E-08 > 1Hz
amp=1.79E-07 £>0.1Hz

1Hz |

101 100 10!

Frequency (Hz)

|
-
4V,

10— 10

10— 11

Integrated Amplitude (m)



HV Ratio

12.5

10.0

7.5

2.0

2.0

0.0

data; seg= 8192 tot= 360600 overlap=

nseg= 69 kek030417:GEOO9

0.75

window= 1
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I I T T TTTH

10~ 1 109
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10!
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HV Ratio
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data; seg= 8192 tot= 360600 overlap=

nseg= 69 kek030417:GEOO9

0.75

window= 1
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100 10!
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